NEW, USED AND SPECIAL ITEMS  cuaocus e suppeses

FASTENER SPECIAL —Loads of new fittings to complete your British car restoration require-
ments. Most of thse "specials” are available on a limited basis.

FS001 BRASS & FIBRE WASHERS for float bowl to carb body...positioning these wash-
ers between the dished steel washer and bottom rubber bush will create a better seal
against potential fuel leaks.

6 pe. kit services two carbs. $3.00

FS002  NARROW GAUGE SPLIT TYPE LOCKING WASHERS abailable in 1/4" 5/16"
and 3/8" sizes. This style lock washer (smaller O.D. thatn standard)
was used on British cars under many applications.
12¢ each—specify size. (7/16" size also available 15¢ ea.)
FS003  EXTERNAL STAR TOOTH LOCKING WASHERS available in 5/16" and
7/16" sizes. Applications include MGA front caliper (5/16" sizes and
Austin Healey suspension. 20¢ each—specify size.

FS004 NUT & LOCKING WASHER KIT to service rear brake shoe metal "stop" to brake
plate. Kit includes four 5/16" BSF nuts and four washers.
Services two stops. $1.75 each.

FS005 HEX HEAD CAP SCREWS to service oil pan to block. 9/16" length screws are
typical of type used on most “A” and “B” series engines. MGA uses 19.
available in stainless steel and carbon steel.
S.S.—60¢ each. Steel grade 5—40¢ each. Set of 19 deduct 10%

FS032 LOCK WASHER for FS005 screw. Large O.D. internal star tooth as original.
20¢ each  $3.40 for 19

FS006 CHROMED SCREW with locking washer—turn signal handle to switch...
correct thread. MGA and MGT series cars. $1.10 each.

FS010 SCREW SET—accel. and choke adjustment. Slotted “cheese” head style screws are
correct for many cars including MGA, AH, etc. 3 pc. kit does not include springs.
Steel, plated. $1.75 per kit

FS011 HEX NUT—2 BA thread. Steel, plated. 25¢ each.

FS013 SLOTTED OVAL HD. MACHINE SCREW — 1/4-28 X 1" thread / length
Head diameter is undersize. As used to hold side attachment bracket to MGA hard
top...4 per vehicle. Steel, nickel plated. 75¢ each.

CHROMED “FINISHING”” SCREWS —special undersize phillips hd. sheet metal screws
used to fasten a variety of chrome sundries on British vehicles, etc. All sizes available
in 5/8" length only.

FS015 #6 with #4 head 17¢ each ~ STANDARD SIZE HEADS
FS016 #8 with #6 head 17¢ each ALSO AVAILABLE
FS017 #10 with #8 head 20¢ each specify

AHO003 SPIRE NUT.. for A.H. 3000 and early TR cars. Used for the fastening of misc. brack-
ets...window mech. BMC No. 53K3039.
(accepts #10 screw) 90¢ each.

PUT THE LUCAS EYE BACK ON YOUR CLASSIC BRITISH CAR!

More supplies of these authentic top quality 7" )75/50 watt) sealed beam
lamps have been located —all are made for RHD/LH traffic. This
) is all we have been able to secure. Many customers are using
them for show purposes only so the direction of the low beam
does not matter!

E20 SPECIAL PRICING ~ $25.00 ea.

$46.00 for 2 $80.00 for 4
SUPPLIES ARE RUNNING LOW! $102.00 for 6 $125.00 for 8

CSR

Clarke Spares & Restorations

P.0. Box 1501; Doylestown, PA 18901 USA  Office (215) 348-0595 FAX 348-4160  Shop (215) 822-6411
darkespares@att.net © www.clarkespares.com

FS008 10-32 thread Pan hd. POZIDRIV machine screws now
available in several lengths. POZIDRIV (which at first glance
looks like a Phillips drive) is an 8 pt. drive. BMC began using
this style head beginning sometime in the early 60's. It was
not unusual to have a mix of Pozidriv and Phillips on the same
vehicle as the new style drive screw was being phased into
production. CSR is now supplying a common thread size:
10-32 (3/16" shank) as used in great quantities on MG, Austin
Healey, etc. Produced in steel with a cadmium-plain silvertone
finish. 5 lengths 3/8", 1/2",5/8",3/4", and 1" are currently
available with other lengths to be available in near future—
inquire.

22¢ each

20¢ gty 25 or more

17¢ qty 50 or more

15¢ gty 100 or more
(lengths can be combined to meet qty. discount.... at least 15 of a
length must be ordered however.)

SHIPPING CHART GUIDE

DOLLAR VALUE CONTINENTAL* CONTINENTAL* CANADA* OVERSEAS*
OF ORDER U.S. EAST OF U.S. WEST OF ALASKA AND
MISSISSIPPI MISSISSIPPI HAWAII

Up to $20.00" 30% 30% 35% 35%
20.01 to 100.00" 15% 18% 25% 30%
100.01 to 200.00 10% 15% 20% 25%
200.01 to 300.00 8% 10% 15% 20%
300.01 to 400.00 6% 8% 12% 18%

*MAY BE HIGHER IF YOUR ORDER INCLUDES MANY SHEET METAL PIECES
**MINIMUM SHIPPING CHARGE $8.00 FOR UPS SHIPMENTS

PHONE ORDERS —VISA « MC « COD.
Minimum credit card $25.00
215-348-0595 * FAX 215-348-4160 « SHOP 215-822-6411
MAIL ORDERS —PO. BOX 1501, Doylestown, PA 18901
clarkespares @att.net
www.clarkespares.com
Visitors Welcome—by appointment only

SP-20 INFORMATION AND TECHNICAL GUIDE FOR MGA OWNERS by Todd
Clarke. This 55+ page spiral bound booklet contains all of that hard-to-find
information not found in factory manuals and “history” books. This booklet
is designed to answer many of the questions put to me over the years by my
customers who are doing extensive restorations. Diagrams and text detail the
proper/factory way of assembling components of your vehicle. The routing of the
wiring harness is explained, for example. Information concerning many of the parts
CSR produces is also included (individual information sheets will still be supplied
when parts are purchased). Booklet includes information concerning hex bolts,
grommets, body repair, wiring harness, seat belt, seat frames, plus much more! A
must for those of you doing frame-up restorations!
$25.00 each.

F134 #10-32 X 5/8" Self Tapping, Indented Hex Head Screw. Typical of many Smiths
heater boxes. Plated steel. 25¢ each

N.O.S. Lucas COIL WIRE ACORN NUT. #408120.  $1.10 each

SP-25 MOUNTING KIT for radio tuner/amp. units—Radiomobile, Motorola, others.
Exacting reproductions for all of the brackets and hardware needed to properly
mount/stabilize the tuner unit behind the instrument panel. Kit includes
instructions.  $26.00 for Kkit.

P-80 “DASH” MATERIAL for MGA Mk. II cars. As original —Black PVC film material with
proper style grain...enough to cover front tonneau ledge. $11.00 each

SUPPLIES of used front suspension parts are now available— steering knuckle/swivel pin
assemblies, spacers and thrust bearings, upper and lower links, etc. All pieces will be
supplied cleaned and, in some cases, rebuilt. Please write or call with your request.

F133 BOLT, WASHER & NUT assembly —MGA 1600 Ft. Brake disc to hub. Special
length thread, grade 8 quality hex head cap screw. BMC No. BTB 145.
8 per vehicle  $3.00 each  $20.00 for kit of 8.

F8B 10-32 HEX NUT. (extra “thick” style—typical of many British vehicles)
5/16" on hex face. 3/16"+ long. Steel, plated 15¢ each  $12.00/100

MGA TWIN CAM SPARES

TC-02  AIR FILTER CANISTER for TWIN CAM —exact reproduction of later style
beefed up units supplied powder paint coated black and assembled with correct
hardware. Filter elements not included. 2 per vehicle. ONEYI30-REMAIN
Supplies are limited. SOLD OUT

TC-07  BRACKET for mounting TWIN CAM cooling system overflow valve. Supplied
plated. Supplies limited.  $15.00 each.

TC-08  RUBBER SEAL—TWIN CAM heater valve to adapter. One per vehicle.
$1.50 each.

TC-11 SCREWS for front louvered panels to wheel arch panel. 14 pc. kit.  $1.75

TC-20  BRACKET/PLATE—for carb. Overflow pipes. Two per vehicle.
(BMC No. AED240)  $2.25 each*

TC-21 GROMMET —for TC-20 plate. (BMC No. 11B424) 75¢ each
TC-22  BRACKET— Bypass pipe. (BMC No. AEH492).  $14.00
TC-23  CLIP (attaches to TC-22). (BMC No. PCR 1009) 1 used $1.25 each*
TC-24  CLIP—for water pipe. (BMC No. BHA4090) 2 used. $1.25 each*

* clips now included in M37E TWIN CAM CLIP SET $50.00
TC-26 ~ CLIP—Ign. Cables (BMC No. AEH627) 2 used  $14.00 each

P39 PVC TUBING Fresh supplies of soft, flexible non-shrink, thin wall, black plastic tubing are now available.
This material is used to shroud lamp wiring and harness sections and is typically found on most
British vehicles. 7/16" 1.D./ .020" wall. MGAs use 12 ft.
$9.00 kit
80¢ per ft. under 10 ft
65¢ per ft. over 25 ft.



U.S. Dollars

ices in

heet. Pr

is price s

Prices effective March, 2018

PRICE SHEET —Use with Catalogue 11 and updates
Prices superede all CSR material predating th

www.clarkespares.com

Clarke Spares & Restorations

€101 00'L LI9OM
VIN dIvd SM
VIN — HI¥/HTSM

008y €M
mdooo T Tm
PROSE T M
00ce SIL
006l 8L
sce Ll
sugooy - SL
008~ vl
mdoocr — €L
ooLc Tl
ooecc 1L
0s'cl £edsS
00°0C cedS
006 I€dS
009~ sudS
00sc™ 0udS
L1dS
== 9IdS

00Lc ™ SIdS
00'0T €1dS

B A VIR T
00L~ TIdS
== 1IdS
saredg ayreD £q

paonpoud syred urernd
aprs Jo Sunsiy ayerdwod
oY) Surureouod syreop
10§ 109ys eredos 995

000S —  120S
(0owe) 00’8~ 01-02IS
0091~ 90-020S
0008~ #0-02OS
009~ €0-02OS
WO0'0S ~ T0/T0-02DS
008~ 9IDS

T 00T T SIDS
201 00'9 ¥10S
0006~ €IDS
0008~ <IDS

and 06T 110S
009% — S0-0IDS
WO0EE T #0-010S
0L~ 60§

W 0s9 T 80S
00vS 90§
00L™ $OS

wd o Is T Wy $DS
mwdp 1§ T 4S ¥DS
wd 006 T Wy €S
wdooge T oS €DS
sLe™ 10T0S
00§~ TOS
00Ir 10§
0081~ T8d
0008S —  dSLd
000sS —  OSLd
0000cc — qSLd
006F1 — ®Sid

we ozt Td
usTor 0081 T ILd
wedog T 1ud
o€ oud
™MST9T  0-69d
WeTLT  10769d
00vc—  89d
VIN —  L9d
00€~ 99d
sty 79d
s6e c019d
s 10°19d
mwdgze ™ 09d
o~ 68d
9RdogT T 8¢d
we g T 8¢d
oreRdes 0ge T L6d
WGy T L6d
wd gyl T 96d
(07S00] S |
wWeo0T - €sd
[N/ S A |
0009~ €0°1sd
ToI00S 20-16d
00LT — Isd
orr— 0sd
(/0 S |
wooe  8%d
06~ 9%d
wWOSST  Thd
(0] 5 S £ |
WRO0S T Obd
006~ 6¢d
sre™ 8ed
ST Led
woo9 T 9ed
S (¥
00T~ €ed

L ced

09’ oed
sLT— 6ud
0011~ 8ud
sLel ™ Lud
000s 9
059 std
SL9 ved
0011 ¢
wd G/ T
008 I
ared gL ocd
0s6~  6ld
0L 8l/Lld
and 08 91d
#0091 Sid
wdoz 1 vId
w00 €ld
00e~ Tid
0S¥ I1d
md 67T 01d
00y 6d
00°S 8d
wdooe ™ ud
06— 9
09~ d
08 #d
rd 00T ed
wdogy —ud
wdogy — Id
0S¢~ €OOLIIN
SI'v ™ TOOLIN
0T~ 10-0LIN
00€ LSIN
0071 9STIN
SLy T0-SSTIN
00T~ SSIN
0S'1 LO-ESTIN
0ST ™ 90°¢SIIN
0S'1 SOE€STIN
0S'1 F0-€STIN
00T €0 €SIIN
00T T0-€STIN
0ST~ T0€SIIN
SL'9 T u8/1-T-0STIN
SL9 WC-0STIN

SL'9 ™ u8/L1 -0STIN
SLY9 T up/e1 -0STIN
009~ u8/S-1 -0STIN
009~ uT/1-1 -0STIN
009 u8/€-1 -0SIIN
WO00l — 6EI/SEIN

e 0g'Y LETIN
01orQ0° ST T TEIN
P 091 CEIN
i) 0s 81 6CIIN
e 0001 6CIIN

0001~ STIN

s 00 ST~ 60-LTIIN
wuny 00'S6T — 80-LTIIN

oS’y LO-LTIN
0091~ 90-LTIN
w006l SO-LTIN
W OSLL T YOLTIN

W OSLL T €0-LTIN
e OS'LT CO-LTIN

0S'T— I10°LTIN
HYHTO00 1T LTIN
e 0g 1 9CIN
HIHTO0' LT~ STIN
SLT YN

ort €CIN
8RS 00y~ CCIN
09 ITIN

53 C0vOIN
S 10v0IN

e 00 €01TIN
00T OI-C0IN
0SS T 60CO0IN
- 80COIN
00T LOCOIN
008~ 90COIN
0Tl — SOTOIN
006~ ¥0-COIN
08y €0-COTIN
081 TOCOIN
orc  10C0IN

P 00T 101N
00000 001N
c8 6LIN
73018 00'8¢C LLN
wROSL T LLN
9LIN

oSy SLN
09¢ qUN
0061~ BTN
00y ILN

® 008 POLIN

R 0S9Y S0LN
0069 AOLIN
®00°68 BOLIN
HYHTO0'CT 0T-0LIN
0501~ 60-0LIN
00LL — 80-OLN
00L~ LOOLIN
0s'L 90-0LIN
0S'L™ SOOLN
00LI — v0-OLIN
SL'e €0-0LIN
00€l — TO-OLIN
00€l — 10-0LIN
0SL™ 69N

HOIdd LNO dSOTOx

e QL S9N
oo Ty T Y9N
HIHT 00°CT YON
VINT 9N

WLy ¢T°T 9N
16 SSEIE 6T VIO
oSy I9N
Al

0S¢ 6SIN

SLT 8

HIHT 0S¥ 1 LSIN
- 9SIN
SLE™ SSW
WIoRs OG"pE YSIN
w06 vSIN
00T €SN
006y~ TSN
ooor IS

VIN 0S/6VIN

VIN™  0SI

VIN 6vIN

P10 00'6% 8YIN
wRo0el T 8V
00 BOYIN

VIN T ¥IVd 9YIN
VIN ~ H¥/HT9YIN

md g LT SYIN
ROyl T SN
ed 00 ¢ PN
HIHTO008T — #vIN
ed G/ OrIN
sTe 6EN
wWyOsor T 8EIN
000~ WLEW
0SSt~ ILEIN
00'L9 SILEW
00%S — ILEW
0029~ ILEW
0029~ HLEW
0S99 — DLEW
00 €t ALEW
000S—  dLEW
vy ALEN
LW

HHT009 ~  9¢IN
LO'T aSeEN
SOT ™ VSEW
S6 T SEW
00'¢ PEN
09 €W
00+ TEN
00s—  IEW

wd o6~ O
009 6TN
SL8T ST

8¢’ LTN
910} 0" ¢ 9TIN
(202010572 SRR 4
0S'L TN
VIN €T

0s'€ TIN
[/ S 4

wd 00zl — 0TI
0S'9 0TI
wyo08T 8T
HYHT 0S'L STIN
VIN ~ ¥IVd LI
VIN = HILIN
«00°0F 10102ds HT LTIW
0L~ 9IN
0S99 SIN
ose SIN

wd gzl VI
0S'9 PIN
wdyIN T CTIN
HYHIVIN © €N

0501 TIN
sty 1IN

JUNOSSIP Jnoqe axmbur
I [EIRIN 199US

W 056 SN
wdooos T YN
HYHT00'LT YN
wd 000s ¢
aed 00" 0S N
ed 00 14 N
HY/HT 00 +C IIN
€oRS 08T LTD
S6' 97D

8 SO
(Y 9]

8 €O
[ 9]

< 120

ov 0o
09~ 61D

0s’ 81D
ST LD

ST 91D

ore S1D
ore- ¥ID

S0C €1o

08 (48]
s8¢ 11D

09 01D
009¢ 9D

08 [S9)

0s'€ ¥D
sty €D

00'L 4]

00°$C D
0001y~ 102d
00SPE — 00cd
8101 00'0C €e1d
W 00" ¢ €eld
e ¢g° Te1d
(Yad €14
006 0€1d
<% 621
00°¢ 8C1d
0SC L21d
ot 9z1d
00T seid
e ()L ¥TId
s¢ €TId
0~ soceld
or'l $0-TC1d
0¢~  ¢oceid
<% 20-Teld
0¢ 1014
sTT 1214
00¥ 0T1d
09 6114
056 8111
sTT LTTd
og’ 9114
STy SIid
0SS P14
sTT SIE
Y4 Tind
c8'8 11
06'9 011
ST9 6014
VIN 8014
113018 /¢ LOTd
or L0Td
00'L 9014
006 Sord
0S'T 014
001 €01
0S¢ 5/J201d
09~ v/1-101d
0S ~ T€/01-101d
00€~ 001d
00¥ 66:1
006 86:1
0S¥ qL6d
00¥ eL6:d
SLe 964
0SS s6d
oL 6
00'LE €6d
0S°S1 z6d
Sr 164
009 684
W 00'S 88:1
w00 [ 184
06 9984
we2 (00" [ €981
002t 984
we 7T qssd
KIS E

c8d

$8:1

qgsd

eER

meTy €84
ST'T 78d
00t 184
0S'1¢T 084
SLT 6L
061 8L
e G LLd
aned 09° 9.4
VIN SLd
VIN ¥Ld
VIN cLd
VIN d
00°S diLd
0S¢ JoLA
VIN ~ up/1 19694
VIN © 419694
VIN e6od
og’ 894
oL qL94
09 ©L9d
0T L9d
81" 99:1
ST Sod
T $9:1
or €94
0z0d 06 794
0g’ 2od
(Yad 194
STl 09:1
S 684
oced 67'9 86
<% 861
v G L84
SO'T ELS]eE
08’ 96
o Ssd
08’ 61
or 10-€64
4|

0S'L 154
sLe €0-05d
STy 20-0sd
00°ST 10-084
0S99 osd
001 611
00 811

Lyd

S 9vd
SLT T (08d) Std
0sT (08D v
STI ™ (08d) evd
STH eThd
001 T
S I+
vd 00'¢1 obd
9101 00'CT 26¢d
®CTY 26¢d
0011 6¢d
wos Yl 8¢
00T (08D Led
INVIN ocH
00ce — osed
sLe psed
seT o6ed
sTT ased
0S¢ voed
0008 sed
00 oped
006 ~—  aved
T8 T eped
0561 ped
sor — (8D Ted
ore — (18Dared
0sc — (18D ered
0S8~ (18D 1¢d
oed

0S'T 6cd
00T — (084 8cd
mpE 068 (08d) BLTd
68 T (08d) Ltd
0ST 9zd
0sCT sed
081 ¥ad
foret |

0110} S Tl
0S¢ 12d
0sT — (08D 0cd
ose — e6ld
00°S 81
LT (08D L1d
009¢ — 91/S1d
[4 I £ |
/XN 7] S R
S¢ W ST
or W91/S P1d

80 T up/IvId
LO €rd
00'9¢ Tid
SL1 R
ST 01d
SLT 61
we2 9(y 81
wre gl oLd
W /7 qLd
goea MO ﬂbm
00°$T PO
SLs 294
00L q9:1
00°L €O
S 94
Se'l deq
0s° ugq
SL1 we
SL1 164
00°€ feq
0001 o5
DN 6T UG
0091 ST'1 UG
00ST QL ycd
oL et |
00T ¥6d
oL o6
0s° pSd
0T'1 26
0S'1 qgd
0Tl LISt |
81 G
or't e
SLT 2
0S'1 ¢d
0T 20-2d
T 10-2d
001 14
Iy k!
meTe 14
0sT ord
or't 6d
SL1 8H
ared 00’1 v
0001 v
0s'T ¢d
0S'C ™

14
4910069~ 001dD
W O0g LT T 0T/614D
WG LT T ST/LTAD
0SLl T 9LID
0591 S1AD
000 — LD
SLLL €140
we g6l T CI/TTAD
wROsIT T 8/LdD
W G761 9/S4D
00'0T [z )
wRCTyl T g/cdD
STLl T 1dD



